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S RPLidar lidar:;
10 #¢define RPLIDAR_MUTOR 3 // PWM Pin for motor control.

-

] )

i

13 float distance([36€0]);
// Let's look at 10 rotations before we average our data.

| A
! W |

15 int numRotations
1€ int targetRotations
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1~iin:1
f§include {hd;fruit_ﬁunPixel.hb

Er—me -

— e

ﬁ&e {RPLidlf;Hﬁ

fdefine LED PIN 8

§define LED COUNT 19 // These variables are for the neo pixels.

Adafruit NeoPixel strip (LED_COUNT, LED_PIN, NEO GRB+NEO KHZ800);

// Let's keep an array that has a distance for every integer angle.

(
e

¢ }
void printData()

1 void setup()

= 0;

If

10;

Serial .begin(115200):;
lidar.begin(Sexiall);

strip.begin():;
strip.setBrightness (50);

pinMode (RPLIDAR MOTOR, OUTPUT):

// Can access indexes 0-359,

// This method shows each angle and their corresponding distance

for (int i=0;

1i<=360; i++)

_-.]

S B ey i s i

Rl L .

i W
32 Serial.print(i);
33 Sexrial.print(™ "):;
34 Serial.println(distance([i]):
35: )
3ec }
. | .f B
| |
| | | |
103 void loop()
104 {
i05 if (IS _OK(lidar.waitPoint()))
iUn: |
107 RPLidarMeasurement currentMeasure lidar.getCurrentPoint () ;
108 if (currentMeasure.startBit == 1)
109 { -
110 numRotations++; ka""j éOf' [ & "o ]a/-h_ms ‘
111 if (numRotations >= targetRotations)
112
113 printData();
114 numRotations = 0; N ’ ¢+ F@ i
115 1ightLED() ; ! o 7
= g 0% - a,l C 150N h
117 }
118 else
119 {
120 distance[int (currentMeasure.angle) ] currentMeasure.distance;
121 }
228 )
123 else
124 {
125 analogWrite (RPLIDAR MOTOR, 0); // Stop the motor
126 rplidar_response device info t info;
127 Serial.println("---"); h@n J l e
+128 Serial.println (IS OK(lidar.waitPoint())); Cl'r‘
129 Serial.println (IS OK(lidar.getDeviceInfo(info, 100)));
130 if (IS OK(lidar.getDeviceInfo
e [_ 0K ( g Info(info, 100))) E,(\/‘or ﬂfh'\‘ﬂ
§132 lidar.startScan();
1133 analogWrite (RPLIDAR MOTOR, 255); dn J’ f@_s
134 ~ delay(1000) ; B +'4'rk ;
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void lightLED()

| // We know we need 19 averages.

for(int i=0;

{

// We keep a sum and how many value we added to our average.

i<19;

float sum = 0O;

// For iteration one,
For iteration two,

for(int a

S~

- 1*10

i++)

!

4¢ float averageNum = O:I
float averageDistance = 0.00;

// we go up to an index of i*10 + Y.

-> i= (0-18) 10 degrees for each pixel.

// Here, we need to look at the proper subset of our
we want to look at indexes 0-9 (degrees)

we want to look at indexes 10-19 (degrees)

data.

// So we start by multiplying which average Wwe are on by 10.
So that we get 10 total values.

-> 1i*10

; a<=i*10+9; a++)* "l’ [(701 G‘} ffoP{,f

// We are ignoring 0 values since Wwe don't know

// this 0 is from being too close, OI that the lidar

// didn't get data there.
if (distance[a]

{

- }
' )

6/ // If we actually added a non zero value to our

sum += distance(a];
averageNum++;

ef if (averageNum != 0)

{

= 0.00)

// Get the average distance

73 else

——
L I I
et 4

1] averageDistance = sum/averageNum;

// Otherwise, set it to O to say either

SUlll.

// 1. We didn't actually get distances at those angles.

17 // 2. Something is way too clos
averageDistance = 0.00;

I
= ]
J =

Serial.println(averageDistance);

if (averageDistance == 0.00)
{
; strip.setP
¥ ]
87 else if (averageDistance
88 {
39 strip.ﬂetPixelColmr(i,
G0 }
g1 else if (averageDistance
92 {
93 strip.setPixelColor (1,
44 }
G5 else
G6 {
Q7 strip.setPixelColar(i,
9¢ }
96 )

100 strip.show();

101 )

< 500)

e to the sensor.

// Set the strip color hased on the average distance.

// White for 0's

strip.Color (255,0,0));

ixelColor (1, strip*ﬂmlor(255,255,255));

// Red for too close!

strip.Color (255,165,0)):

< 1000) // Yellow for getting clasel

// Green for not close enough

strip.Color (0,255,0));
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